International Journal of Current Advanced Research

ISSN: O: 2319-6475, ISSN: P: 2319-6505, Impact Factor: SJIF: 6.614 Available Online at www.journalijcar.org Volume: 7| Issue: 1| Special Issue January: 2018 | Page No.32-35 DOI: http://dx.doi.org/10.24327/IJCAR

A STUDY ON OPERATORS OVER INTUITIONISTIC FUZZY SETS OF THIRD TYPE

Syed Siddiqua Begum and R. Srinivasan

Department of Mathematics, Islamiah College (Autonomous), Vaniyambadi - 635 752, Tamil Nadu, India

ABSTRACT

In this paper, we define the operators $J_{\alpha,\beta}(.)$ and $J^*_{\alpha,\beta}(.)$ on Intuitionistic Fuzzy Sets of Third Type and establish some of their properties and relations.

2010AMS Subject Classification:03E72

Keywords:

Intuitionistic Fuzzy Sets (IFS), Intuitionistic Fuzzy Sets of Second Type (IFSST), Intuitionistic Fuzzy Sets of Third Type (IFSTT).

Copyright©2018 Syed Siddiqua Begum and R. Srinivasan. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

To overcome the uncertainty and vagueness, the inherent in the real world, L. A. Zadeh^[12] introduced the notion of fuzzy sets in 1965. In 1983, K. T. Atanassov^[1] introduced the Intuitionistic Fuzzy Sets and their extensions. The authors further extended the Intuitionistic Fuzzy Sets, namely, Intuitionistic Fuzzy Sets of Third Type and studied some of their properties. In section 2, we recollect some basic definitions and in section 3, wedefine the new operators $J_{\alpha,\beta}$ and $J^*_{\alpha,\beta}$ on intuitionistic fuzzy sets of third type and establish some of their properties and relations. The paper is concluded in section 4.

2. Preliminaries

In this section, we give some definitions of IFS and their extensions.

Definition 2.1[1] Let X be a non-empty set. An Intuitionistic Fuzzy Set (IFS) A in X is defined as an object of the form

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle \colon x \in X \},\$$

where $\mu_A(x): X \to [0,1]$ and $\nu_A(x): X \to [0,1]$ denote the degree of membership and non-membership functions of *A* respectively, and

$$0 \le \mu_A(x) + \nu_A(x) \le 1,$$

for each $x \in X$.

Definition 2.2[1]The degree of non-determinacy (uncertainty) of an element $x \in X$ in the IFS *A* is defined by $\pi_A(x) = 1 - \mu_A(x) - \nu_A(x)$.

Definition 2.3[1]Let X be the non-empty set. An Intuitionistic Fuzzy Set of Second Type (IFSST) A in X is defined as an object of the form

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle \colon x \in X \}$$

where $\mu_A(x): X \to [0,1]$ and $\nu_A(x): X \to [0,1]$ denote the degree of membership and non-membership functions of *A* respectively, and

$$0 \le \mu_A^2(x) + \nu_A^2(x) \le 1,$$

for each $x \in X$.

Definition 2.4[11]Let X be the non-empty set. An Intuitionistic Fuzzy Set of Third Type (IFSTT) A in X is defined as an object of the form

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle \colon x \in X \},\$$

where $\mu_A(x): X \to [0,1]$ and $\nu_A(x): X \to [0,1]$ denote the membership and non-membership functions of A, respectively, and

$$0 \le \mu_A^3(x) + \nu_A^3(x) \le 1,$$

for each $x \in X$.

Definition 2.5[9]The degree of non-determinacy (uncertainty) of an element $x \in X$ in the IFSTT A is defined by

$$\pi_A(x) = \sqrt[3]{1 - \mu_A^3(x) - \nu_A^3(x)}.$$

Remark: In case of ordinary fuzzy sets, $\pi_A(x) = 0$, for every $x \in X$.

Definition 2.6[10]Let A and B be any two IFSTTs of the nonempty set X such that

$$A = \{ \langle x, \mu_A(x), \nu_A(x) \rangle \colon x \in X \},$$

$$B = \{ \langle x, \mu_B(x), \nu_B(x) \rangle \colon x \in X \}.$$

We define the following basic operations on A and B. (i) $A \subset Biff(\mu_1(x)) \leq \mu_2(x)$ and

(i)
$$A \subset Bin \mu_A(x) \leq \mu_B(x)$$
 and
 $\nu_A(x) \geq \nu_B(x)$, for all $x \in X$
(ii) $A \supset Biff \mu_A(x) \geq \mu_B(x)$ and
 $\nu_A(x) \leq \nu_B(x)$, for all $x \in X$
(iii) $A = Biff \mu_A(x) = \mu_B(x)$ and

$$\nu_A(x) = \nu_B(x)$$
, for all $x \in X$



RESEARCH ARTICLE

2

(iv)
$$\overline{A} = \langle x, \mu_A | x , \nu_A | x \rangle$$
: $x \in X$,
where \overline{A} is the complement of A

Definition 2.7[10]For every IFSTT A, we have the following two topological operators:

 $C(A) = \langle x, K, L \rangle : x \in X$ where $K = \max_{y \in X} \mu_A y$, $L = \min_{y \in X} \nu_A y$ $l(A) = \langle x, k, l \rangle : x \in X$ and

where $k = \min_{y \in X} \mu_A y$, $l = \max_{y \in X} v_A y$.

We call these operators a "Closure" and "Interior" of A over the universe X respectively.

Definition 2.8[7] Let $\alpha, \beta \in [0,1]$. Given an IFSTT A, we have an operator

$$H_{\alpha,\beta}(A) = \langle x, \sqrt[3]{\alpha} \mu_A(x), \sqrt[3]{\nu_A^3} x + \beta \pi_A^3(x) \rangle : x \in X$$

Definition 2.9[7] Let $\alpha, \beta \in [0, 1]$. Given an IFSTT *A*, we have an operator

$$H^{*}_{\alpha,\beta}(A) = \langle x, \sqrt[3]{\alpha} \mu_A x ,$$

$$^{3} v^{3}_A x + \beta 1 - \alpha \mu^{3}_A x - v^{3}_A x : x X$$

3. Operators on IFSTT

Definition 3.1 Let α, β [0, 1]. Given an IFSTT A, an operator $J_{\alpha,\beta}$ is defined as

$$J_{\alpha,\beta} A = x_{,}^{3} \overline{\mu_{A}^{3} x + \alpha \pi_{A}^{3} x}_{,}^{3} \overline{\beta} v_{A} x : x \quad X.$$

Definition 3.2 Let $\alpha, \beta = [0, 1]$. Given an IFSTT A, an operator $J_{\alpha,\beta}$ is defined as

$$J_{\alpha,\beta} A = x^{3} \mu_{A}^{3} x + \alpha 1 - \mu_{A}^{3} x - \beta v_{A}^{3} x ,$$

$$^{3} \overline{\beta} v_{A} x : x X$$

Remark: Obviously, $J_{\alpha,\beta} A$ and $J_{\alpha,\beta} A$ are IFSTTs.

Proposition 3.1For every IFSTT *A* and for every real numbers α , β 0,1 we have

(i) $J_{\alpha,\beta} C(A)$	$C(J_{\alpha,\beta} A)$
(ii) $J_{\alpha,\beta}$ $I(A)$	$I(J_{\alpha,\beta} A)$
(iii) $J_{\alpha,\beta} C(A)$	$C(J_{\alpha,\beta} A)$
(iv) $J_{\alpha,\beta} I(A)$	$I(J_{\alpha,\beta} A).$

Proof. (i)
$$J_{\alpha,\beta} C(A)$$

= $J_{\alpha,\beta}(\{x, \max_{y \to X} \mu_A y, \min_{y \to X} \nu_A y : x X\})$
= $x, \frac{3}{\max_{y \to X} \mu_A y} \frac{3}{x + \alpha} 1 - \max_{y \to X} \mu_A y \frac{3}{x - \min_{y \to X} \nu_A y} \frac{3}{x},$
 $\frac{3}{\beta} \min_{y \to X} \nu_A y : x X$

$$x^{3} \max_{y \in X} \mu_{A} y^{3} + \alpha 1 - \max_{y \in X} \mu_{A} y^{3} - \max_{y \in X} \nu_{A} y^{3},$$

$$= x^{3} \frac{\overline{\beta} \min_{y \in X} \nu_{A} y : x X}{\max_{y \in X} \mu_{A}^{3} y + \alpha (1 - \mu_{A}^{3} y - \nu_{A}^{3} y)},$$

$$^{3} \overline{\beta} \min_{y \in X} \nu_{A} y : x X$$

$$= x^{3} \max_{y \in X} \frac{\overline{\beta} \min_{y \in X} \nu_{A} y : x X}{\max_{y \in X} \mu_{A}^{3} y + \alpha \pi_{A}^{3} y},$$

$$\min_{y \in X} \overline{\beta} \nu_{A} y : x X$$

$$= C \quad x, \ ^{3} \mu_{A}^{3} x + \alpha \pi_{A}^{3} x, \ ^{3} \overline{\beta} v_{A} x : x \quad X$$
$$= C \quad J_{\alpha\beta} A$$

(ii)
$$J_{\alpha,\beta} I(A)$$

= $J_{\alpha,\beta} x, \min_{y=X} \mu_A y, \max_{y=X} v_A y : x X$
= $x, \frac{3}{min\mu_A y} \frac{3}{x + \alpha} 1 - \min_{y=X} \mu_A y, \frac{3}{y - max} v_A y, \frac{3}{x}, \frac{3}{pmax} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{y - x} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{y - x} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{pmax} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{pmax} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{pmax} \frac{\overline{\beta} \max_{y=X} v_A y}{y - x + \alpha} \frac{3}{pmax} \overline{\beta} \max_{y=X} v_A y = x X$

$$= x_{A} \min_{y=X}^{3} \overline{\mu_{A}^{3} y} + \alpha \pi_{A}^{3} y,$$

$$\max_{y=X}^{3} \overline{\beta} v_{A} y : x X$$

$$= L - x^{3} \overline{\mu_{A}^{3} x} + \alpha \pi^{3} x^{3} \overline{\beta} v_{A} x : x X$$

$$= I \quad x, \quad \mu_A^* x + \alpha \pi_A^* x, \quad \beta v_A x : x \quad x$$
$$= I \quad J_{\alpha,\beta} A$$

(iii)
$$J_{\alpha,\beta} C(A)$$

= $I_{\alpha,\beta} x, \max_{y=X} \mu_A y, \min_{y=X} \nu_A y : x X$
= $x, \frac{\pi}{y=X} \mu_A y + \alpha 1 - \max_{y=X} \mu_A y - \beta \min_{y=X} \nu_A y + \alpha 1$
 $x, \frac{\pi}{y=X} \mu_A y + \alpha 1 - \max_{y=X} \mu_A y - \beta \max_{y=X} \nu_A y + \alpha 1$
= $x, \frac{\pi}{y=X} \mu_A y + \alpha (1 - \mu_A^3 y - \beta \nu_A^3 y),$

$${}^{3} \overline{\beta} \min_{y \to X} v_{A} y : x \quad X$$

$$= x \cdot \max_{y \to X} {}^{3} \overline{\mu_{A}^{3} y} + \alpha (1 - \mu_{A}^{3} y - \beta v_{A}^{3} y),$$

$$\min_{y \to X} {}^{3} \overline{\beta} v_{A} y : x \quad X$$

$$= C \quad x, {}^{3} \overline{\mu_{A}^{3} x} + \alpha (1 - \mu_{A}^{3} x - \beta v_{A}^{3} x),$$

$${}^{3} \overline{\beta} v_{A} x : x \quad X$$

$$= C \quad J_{\alpha,\beta} A$$
(iv) $J_{\alpha,\beta} \quad I(A)$

$$= J_{\alpha,\beta} \quad x, \min_{y \to X} \mu_{A} y, \max_{y \to X} v_{A} y : x \quad X$$

$$= x, {}^{3} \frac{\min_{y \to X} \mu_{A} y}{y + \alpha} (1 - \frac{\min_{y \to X} v_{A} y}{y + \alpha} (1 - \frac{m_{A}^{3} y}{y + \alpha} y),$$

$$x, {}^{3} \frac{\min_{y \to X} \mu_{A} y}{y + \alpha} (1 - \frac{\min_{y \to X} v_{A} y}{y + \alpha} y),$$

$$= x, {}^{3} \frac{\min_{y \to X} \mu_{A} y}{y + \alpha} (1 - \mu_{A}^{3} y - \beta v_{A}^{3} y),$$

$$= x, \min_{y \to X} {}^{3} \frac{\mu_{A}^{3} y}{\mu_{A}^{3} y} + \alpha (1 - \mu_{A}^{3} y - \beta v_{A}^{3} y),$$

$$= 1 \quad x, {}^{3} \frac{\mu_{A}^{3} x}{\mu_{A}^{3} x} + \alpha (1 - \mu_{A}^{3} x - \beta v_{A}^{3} x),$$

$${}^{3} \overline{\beta} v_{A} x : x \quad X$$

 $= I J_{\alpha,\beta} A$.

3.2Let $\tilde{E} = x, 1, 0 : x X, \tilde{O} =$ Proposition $x_1 0, 1 : x X$ and $\widetilde{U} = x_1 0, 0 : x X$. Then we have

(i)
$$C \tilde{E} = \tilde{E}$$

(ii) $C \tilde{O} = \tilde{O}$
(iii) $C \tilde{U} = \tilde{U}$
(iv) $I \tilde{E} = \tilde{E}$
(v) $I \tilde{O} = \tilde{O}$
(vi) $I \tilde{U} = \tilde{U}$.

Proof

(i)
$$C \ \tilde{E} = C \quad x, 1, 0 : x \quad X$$

= $x, \max_{y \in X} 1, \min_{y \in X} 0 : x \quad X$
= $x, 1, 0 : x \quad X$
= \tilde{E}

(ii)
$$C \ \tilde{O} = C \ x, 0, 1 : x \ X$$

$$= x, \max_{y \in X} 0, \min_{y \in X} 1 : x \ X$$

$$= x, 0, 1 : x \ X$$

$$= \tilde{O}$$
(iii) $C \ \tilde{U} = C \ x, 0, 0 : x \ X$

$$= x, \max_{y \in X} 0, \min_{y \in X} 0 : x \ X$$

$$= x, 0, 0 : x \ X$$

$$= \tilde{U}$$
(iv) $I \ \tilde{E} = I \ x, 1, 0 : x \ X$

$$= x, \min_{y \in X} 1, \max_{y \in X} 0 : x \ X$$

$$= x, 1, 0 : x \ X$$

$$= x, \min_{y \in X} 0, \max_{y \in X} 1 : x \ X$$

$$= x, 0, 1 : x \ X$$

$$= x, \min_{y \in X} 0, \max_{y \in X} 1 : x \ X$$

$$= x, 0, 1 : x \ X$$

$$= x, \min_{y \in X} 0, \max_{y \in X} 0 : x \ X$$

$$= x, 0, 1 : x \ X$$

$$= x, \min_{y \in X} 0, \max_{y \in X} 0 : x \ X$$

$$= x, 0, 0 : x \ X$$

$$= x, 0, 0 : x \ X$$

$$= \tilde{U}.$$

This shows that the vertices of the triangle in the geometrical interpretation of an IFSTT is invariant.

Theorem 3.1For every IFSTT A and for every real numbers α, β 0,1 we have the following:

(i)
$$H_{\alpha,\beta} \overline{A} = J_{\beta,\alpha}(A)$$

(ii) $J_{\alpha,\beta} \overline{A} = H_{\beta,\alpha}(A)$
(iii) $H_{\alpha,\beta} \overline{A} = J_{\beta,\alpha}(A)$
(iv) $J_{\alpha,\beta} \overline{A} = H_{\beta,\alpha}(A).$

Proof.

Let , [0, 1], for every given IFSTT A,

(i)
$$H_{\alpha,\beta} \overline{A}$$

$$= H_{\alpha,\beta} \overline{x}, \overline{\mu}_A \overline{x}, \overline{\nu}_A \overline{x} \overline{x} \overline{x} \overline{X}$$

$$= \overline{H}_{\alpha,\beta} \overline{x}, \overline{\nu}_A \overline{x}, \overline{\mu}_A \overline{x} \overline{x} \overline{X}$$

$$= x, {}^3 \overline{\alpha} \overline{\nu}_A x, {}^3 \overline{\mu}_A^3 x + \beta \pi_A^3 x} x X$$

$$= \{ x, {}^3 \overline{\mu}_A^3 x + \beta \pi_A^3 x, {}^3 \overline{\alpha} \overline{\nu}_A x x X \}$$

$$= J_{\beta,\alpha}(A)$$
(ii) $J_{\alpha,\beta} \overline{A}$

$$= J_{\alpha,\beta} \overline{x}, \overline{\mu}_A \overline{x}, \overline{\nu}_A \overline{x} : \overline{x} \overline{X}$$

$$= \overline{J}_{\alpha,\beta} \quad \overline{x}, \overline{v}_A \quad \overline{x} \quad , \overline{\mu}_A \quad \overline{x} \quad \overline{x} \quad \overline{X}$$

$$= x, {}^3 \quad \overline{v}_A^3 \quad x + \alpha \quad \pi_A^3(x) \quad , {}^3 \quad \overline{\beta} \quad \mu_A(x) \quad : x \quad X$$

$$= x, {}^3 \quad \overline{\beta} \quad \mu_A \quad x \quad , {}^3 \quad \overline{v}_A^3 \quad x + \alpha \quad \pi_A^3 \quad x \quad : x \quad X$$

$$= H_{\beta,\alpha}(A)$$

(iii) $H_{\alpha,\beta} \overline{A} = H_{\alpha,\beta} \overline{x}, \overline{\mu}_A \overline{x}, \overline{\nu}_A \overline{x} : \overline{x} \overline{X}$

$$= \overline{H}_{\alpha,\beta} \quad \overline{x}, \overline{\nu}_A \quad \overline{x} \quad \overline{\mu}_A \quad \overline{x} \quad \overline{x} \quad \overline{X}$$

$$= x,^{3} \quad \overline{\mu_A^{3} x + \alpha} \quad 1 - \mu_A^{3} \quad x - \beta \nu_A^{3}(x) \quad ,^{3} \quad \overline{\beta} \nu_A(x) \quad : x \quad X$$

$$= x,^{3} \quad \overline{\mu_A^{3} x + \alpha} \quad 1 - \mu_A^{3} \quad x - \beta \nu_A^{3}(x) \quad ,^{3} \quad \overline{\beta} \nu_A(x) \quad : x$$

$$x, \ \mu_A^3 x + \alpha \ 1 - \mu_A^3 x - \beta v_A^3(x) \ , \ \ \beta v_A(x)$$
:

$$= J_{\beta,\alpha}(A)$$

X

(iv)
$$J_{\alpha,\beta} \overline{A}$$

$$= J_{\alpha,\beta} \overline{x}, \overline{\mu}_A \overline{x}, \overline{\nu}_A \overline{x} : \overline{x} \overline{X}$$

$$= J_{\alpha,\beta} \overline{x}, \overline{\nu}_A \overline{x}, \overline{\mu}_A \overline{x} : \overline{x} \overline{X}$$

$$= x, {}^3 \overline{\mu}_A^3 x + \alpha (1 - \mu_A^3 x - \beta v_A^3 x), {}^3 \overline{\beta} v_A(x) : x \overline{X}$$

$$= x, {}^3 \overline{\beta} \mu_A(x), {}^3 \overline{v_A^3 x + \alpha} 1 - \beta \mu_A^3 x - v_A^3(x) : x \overline{X}$$

$$X$$

 $= H_{\beta,\alpha}(A)$

These equalities show that the operators $H_{\alpha,\beta}$. and $J_{\alpha,\beta}$., and the operators $H_{\alpha,\beta}(.)$ and $J_{\alpha,\beta}(.)$ are dual.

Conclusion

In this paper, we have introduced the new operators $J_{\alpha,\beta}$. and $J_{\alpha,\beta}$. on IFSTT and studied some of their properties. We have proved that the vertices of the triangle in the geometrical interpretation of an IFSTT is invariant and also the operators $H_{\alpha,\beta}$. and $J_{\alpha,\beta}$., and the operators $H_{\alpha,\beta}(.)$ and $J_{\alpha,\beta}(.)$ are dual.

References

- [1] Atanassov, K. T., Intuitionistic Fuzzy Sets Theory and Applications, Springer Verlag, New York, (1999).
- [2] Parvathi, R. and Palaniappan, N., Some Operations on Intuitionistic fuzzy sets of Second Type, Notes on IFS, 2, (2004), pp.1–19.
- [3] Srinivasan, R. and Palaniappan, N., Some operations on Intuitionistic fuzzy sets of root type, Notes on IFS, (2006), 12(3), pp.20–29.
- [4] Srinivasan R., and Syed Siddiqua Begum, A Comparative Study of Various Distance Measures in Intuitionistic Fuzzy sets of Third Type, Int. J. of Math. Arch., 9(1), (2018), pp.214–217.
- [5] Srinivasan R., and Syed Siddiqua Begum, Some Properties on Intuitionistic Fuzzy sets of Third Type, Adv. In Fuzzy Math., 12(2), (2017), pp.189–195.
- [6] Srinivasan R., and Syed Siddiqua Begum, Properties on Intuitionistic Fuzzy sets of Third Type, 2016 Annual Conference of the North American Fuzzy Information Processing Society (NAFIPS), El Paso, TX, pp.1–3.
- [7] Srinivasan R., and Syed Siddiqua Begum, A Study on Properties of Intuitionistic Fuzzy sets of Third Type, Int. J. of Math. and its App., 4(2-B), (2016), pp.59– 64.
- [8] Srinivasan R., and Syed Siddiqua Begum, A Study on Properties of Intuitionistic Fuzzy sets of Third Type, Int. J. of Multi. Res. And Mod. Edu. (2), (2016), pp.329–334.
- [9] Srinivasan R., and Syed Siddiqua Begum, A Study on Intuitionistic Fuzzy sets of Third Type, Rec. Tre. In Math., 1(1), (2015), pp.230–234.
- [10] Srinivasan R., and Syed Siddiqua Begum, Some Properties of Intuitionistic Fuzzy sets of Third Type, Int. J. of Sci. and Human., 1(1), (2015), pp.53–58.
- [11] Srinivasan R., and Syed Siddiqua Begum, Some Properties on Intuitionistic Fuzzy Sets of Third Type, Ann. of Fuzzy Math. andInf., 10(5), (2015), pp.799– 804.
- [12] Zadeh L. A., Fuzzy sets, Inf. and Cont., 8, (1965), pp.338–3
